
 

149

Tis systems of spheres giving prime tea upon bus

Assume every ET meets T
every EJ meets S
there is some transverse intersection

Aim reduce transverse interaction

Take ET with Sif AT 0
Take NE Si innermost aide in Sf
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reduce to Se D by amane Bj contains no 84

Recall both Fj and 84 cross K twice so 3 cases
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Braids and representation of links via braids
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promote isotopy to ambient isotopy
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suppose they give the same geometric braid
i e their diagrams are related by planar isotopy
through monotone diagrams c Reideaceister crores

thorough monotone diagrams

Notice if a monotonic diagram has all cnom.gs
at different heights then it determines a word in rf rat
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Ihml Alexander every oriented link is for some
M and some PE Bm
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Def if k is an oriented think diagram I cale
choice of overaees the choice of point on K
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